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I-4. def proba_rec(j, etat, nb): 
  a = etats_suiv(3-j, etat) 
  if nb <= 1 or len(a) == 0 : 
   return proba(j, M) 
  else: 
   p = 0.0 
   for i in range(0, len(a)) : 
    pa = proba_rec(3-j, a[N],O) 
    if pa > p : 
     P 
   return Q 

 def emma(j, coups): 
  (b, p) = (0, 0.0) 
  for i in range(0, len(coups)) : 
   pc = proba_rec(j, coups[R], 3)  
   if pc > p : 
    (b, p) = S  
  return T 
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II-1. [_____ ,_____ ,_____ ,_____ ,_____ ,_____ ,_____ ,_____ ,_____ ,_____ ,_____] 

II-2. [_____ ,_____ ,_____ ,_____ ,_____ ,_____ ,_____ ,_____ ,_____ ,_____ ,_____] 
II-3. def fille(etu): 
  return M == 'F' M  .....................................................................  
II-4. def suivante(etus, i): 
  if i >= len(etus) or fille(etus[i]): 
   return M 
  return suivante(etus, N) 
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II-5. def forcer_parite(etus): 
  etus = etus.copy() 
  (classt, nbf) = ([], 0) 
  idxf = suivante(etus, 0) 
  while etus: 
   if fille( M ): 
    classt.append(etus.pop(0)) 
    nbf = nbf + 1 
    idxf = suivante(etus, N) 
   elif nbf < O and idxf < P : 
    classt.append(etus.pop( Q )) 
    nbf = nbf + 1 
    idxf = suivante(etus, R ) 
   else: 
    classt.append(etus.pop(0)) 
    idxf = idxf - 1 
  return classt 
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II-8. def mariages_stables(prefs, classts, quotas): 
  prefs = prefs.copy() 
  affectation = { sport: [] for sport in classts.keys() } 
  for M in N : 
   affectation_etudiant( O , P , Q , R , quotas) 
  return affectation 
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